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Completing the Square Worksheet T mP3

To solvem* + bx + 0= 0 by "completing the sqrare™:

. 1) Potthe variable terms s on the loft of the equal sign, in standard form, and the eonstant term i on the fghl So, get i into the form o’ +hx=c,
2} Divideby " & *, 5o e coefnient of 2 is 1.
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3} Teke one-hulf fhe cocfficient of the x-term, squaring it, and adding fis quantity to both sides of foe equation. Besically, add (—2-) fa both sides,

2
4} Factor the Pecfert Square Trivomisl on the 1sft side of the equation and stmplify the right side, Remember, it always fSintors into [x + ‘i]

5) Use the principle of square poots
6) Solve the remaining equafion
7} Check your answer in the original equation,

Solve each equation by completing the square.
2. X +2x=35
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4, Br=4x*—1

6, bx=4x*-1

8. x*-7x=I8



10. - 7Tx=3"-1

12, ¥ +3x=40

14, Tx=4x"-1



